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Solutions to smp-6327-3/XLVZ

Worksheet

Problem quickname: 6327

b

Caclulate the result.

a) 66 + 16 = 82
d) 25+ 80 = 105
g) 54 + 89 = 143
i) 44 + 95 = 139
2)

Caclulate the result.

a) 31+ 3 =34
d) 784+ 9 = 87
g) 28 +4 = 32
3)

Caclulate the result.

a) 795 + 5 = 800
d) 441 + 9 = 450
g) 663 + 9 = 672
j) 654 + 9 = 663
4)

Caclulate the result.

a) 65 + 29 = 94
d) 37+ 77 =114
g) 83 4 39 = 122
i) 22430 = 52

Good Luck!
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b) 65+ 12 = 77
e) 27 + 93 = 120
h) 82 4 66 = 148

b) 42 4 6 = 48
e) 8241 =283

b) 896 + 6 = 902
e) 616 + 7 = 623
h) 382 + 9 = 391

b) 74 4 70 = 144
e) 73 + 55 = 128
h) 74 4 60 = 134
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¢) 61+ 74 =135
f) 49 + 32 = 81
i) 90 + 21 =111

c) 46 + 6 = 52
f) 84 +7=91

¢) 325 + 7 = 332
f) 229 + 8 = 237
i) 837 4 5 = 842

¢) 63 4 84 = 147
£) 85 + 12 = 97
i) 45 + 64 = 109
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